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1.  Who discovered the double helix structure of DNA?
2.  Where is DNA found in the cell?

3.  What are genes?
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Review Station #2
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Review Station #3

1.  What is the complementary strand of DNA to this strand of DNA?
ATAGGCTGA
2.     What is the complementary strand of mRNA to this strand of DNA?


TCAGCATAT
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Review Station #4
1.  What are genes?
2.  What causes cells with the same DNA to develop into 

different types of cells? (ex. Blood cells, nerve cells, heart 

cells,etc.)
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Review Station #5

1. A nucleotide in DNA is composed of what 3 parts?
2. A nucleotide in RNA is composed of what 3 parts?
Review Station #6

1.  What is made during replication?

Where does it occur?
2. What is made during transcription?

Where does it occur?

3. [image: image6.png]


What is made during translation?

Where does it occur?
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Review Station #7

1.  Name 3 differences between RNA & DNA.
2.  Name the three types of RNA and tell what each one does
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Review Station #8
1. In DNA         
Adenine pairs with __________________________


Guanine pairs with __________________________

2. In RNA     
Adenine pairs with __________________________

      

Guanine pairs with __________________________
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 Review Station #10
1.  Mutations can happen in a body cell (skin, lung, etc.) or a gamete (sperm or egg)…which one will be passes down to the offspring?
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2.  What do we call things that cause mutations?

3. What do we call things that cause cancer?
Review Station #11

1.  What are the advantages and disadvantages of sexual reproduction?

2.  What are the advantages and disadvantages of asexual reproduction?
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Review Station #12

1.  What is crossing over?
What does it provide for sexual reproduction?
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2.  What is the diagram to the right showing?
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Review Station #13
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1.  Which side of the diagram shows MITOSIS?
2.  Which side of the diagram shows MEIOSIS?

3.  Which one provides for genetic variation?

Review Station #14

1.  What is a diploid cell?

Give an example

2.  What is a haploid cell?

Give an example
Review Station #15

1.  Mitosis starts with _______ cell and makes ___________, meiosis starts with ________ cell and makes ____________.

2.  Which process makes diploid cells?

3.  Which process makes haploid cells?
Review Station #16


1.  Give 3 examples of asexual reproduction

Review Station #17

1.  In humans, a Widow’s peak hairline is dominant to a Non-Widow’s peak hairline.  If a woman that is heterozygous for Widow’s peak has a child with a man that does not have a widow’s peak.   What is the probability that their child will have a widow’s peak?  __________________

	
	

	
	


Review Station #18

1.  Attached ear lobes are recessive to unattached ear lobes. If a woman with attached ear lobes has a child with a man that is homozygous dominant for unattached ear lobes, what is the probability that they will have a child with attached ear lobes?__________________ 

	
	

	
	


Review Station #19

1.  Sickle Cell Anemia is a recessive disease.  If two carriers for sickle cell have a child, what is the probability that their child will have sickle cell?______________

	
	

	
	


Review Station #20

1.  If a red carnation is bred with a white carnation, pink carnations can be made because they are incompletely dominant.  The heterozygous genotype would be pink.  What is the chance of two pink carnations having a white offspring? _____________________

Review Station #21

1.   Colorblindness is a recessive sex-linked disorder.  If a female carrier has a child with a male with normal vision, what is the probability that they will have a colorblind son?     __________       

	
	

	
	


Review Station #22

1. A woman with type heterozygous A blood is married to a type heterozygous B person. What percentage of their children will have:


A blood 






	
	

	
	



B blood 







AB blood







O blood 



Review Station #23

1.  What is gene therapy?

2.  What was the Human Genome Project?


What was the impact of the HGP?

[image: image19.emf]Review Station #24

1.  What is used to cut DNA into fragments?

2.  What do we call the process to the right?
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Review Station #25

1.  What is a karyotype?


2.  What do we use karyotypes for?

Review Station #26

1.   Who is the true criminal in this case?
Review Station #27

1.  What is a stem cell?

Review Station #28

1.  What are the steps to producing a transgenic 

organism?

2.  Give two examples of what we can use 

genetically engineered bacteria for.
List A – G and tell what they AND what they do
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1.  Which amino acid sequence can be coded from the DNA sequence:  CCG   TGG   CCA? 
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